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J&IfTS Y. (1-8)
Objective Type Questions (1-8)
¥ 1 %x 0O FTAF & — 1
Value of %x 0 is
2
(a) = (b) O
(c) 2 (d)7 (
U 2 FHIGION 3x -1=14 ¥ 07 U&T B8N — 1

Left hand side in Equation 3x -1=14is

(a) 3x (b) 14

(c)3x-1 (d) 3x +1 (
U 3 I & UAD DIV HT A9 BT § — 1

The measure of each angle of a square is-

(a) 90° (b) 180°

(c) 270° (d) 360° ()



e 4 9 DI U I G ©§ —
The perfect square number of 9is -
(a)90 (b) 70
(c) 99 (d) 81 (

Y 5 AT 5 P O AT 8hl) —
Cube of a number5is -

(a) 5 (b) 25 (c) 125 (d) 625 (
e 6 3ifhd oI — RAFT T = o FHEAT B—

Marked price — Selling price is called

(a) seer (b) et (c) fasp1 a= (d) =TS

(a) Discount (b) Principal (c) Sales tax (d) Interest

e 7 THUSH N Iid o
Monomial algebraic expression is -
(a) 4x (b) 4x + 3y
(c) 3x + 2y (d)-3x+2y +5z (

US: 8 0.000035 HEIT hl AMD ®U BN —
The standard form of a number 0.000035 is -
(a) 3.5x1073 (b) 3.5x1072
(c) 3.5x107° (d) 3.5x1077 (

SfCITERTS 9T (9—12)

Very Short Answer type Questions (9-12)

T 9 X e = 1% IO & I SYANT By g o &1 9 forfay |

29 -19
—-19 29

Write the name of property used under multiplication in ey X 5 - 1

3} /. Ans




Y 10 FHANUT 5x+9= 5+ 3x I B PIT | 2

Solve the equation 5x +9= 5+ 3x
<IN / Ans

g 11 FHfoRad Sme 4 9 9AE & 9 @ ghls D 3D S DY — 2
Find the one’s digit/ Unit digit of the cube each of the following number.
(i)3331 (ii) 1027
3R / Ans(i)

(ii)

¥ 12 YR & U9 15 U9 © IO AMEl & U 45 U9 o Tl &F @ YAl BT U Si1d
BIY — 2

Bharti has 15 pens and Meenakshi has 45 pens.. Find the ratio of the pens of both.
3N / Ans

TERTHS U (13—22)
gug I (13—16)

Short Answer type Questions (13-22)
PART-A (13-16)
Ue: 13 FITRaT Al B1 UedR |l /3 § A Sugdd WR V 3ifdhd By 4x1 =4

(i) a™xb™ @1 A (ab)™ BFT (A / 3 ed)
(i) 102* + eMR &1 719 24 &R0 (T / 3RT<)
(iii) (=5)"*x(=5) "2 @1 79 (=5) "¢ B (A / 399)
(iv) 2° = 276 @ram 211 8 (T / 3)



Mark (V) against True/False in the following statements:-

(i) Value of a™xb™ is (ab)™ (True/Flase)
(ii)  Vvalue of base of 10%* is 24 (True/Flase)
(iii)  valueof (—=5)™*x(=5) "2 is (=5)° (True/Flase)
(iv) Vvalueof2® + 276 s 2! (True/Flase)

T 14 R 7 @1 gid sifrg— Ax1 =4

Fill in the blanks-

(i) JTIT BT T—D DI oo BT ® (DI / ~AHT0T)
The measure of each angle of rectangle is (right angle/ acute angle)

(i) ST TG B BT BT B W AT H TENERT 81 (99T /)

The convex polygon have no portion of their diagonals in their

(Exterior part/ Interior part)

(iii) TSt & T QT DI BT AFTH ..o b i BIaT ® | (360° /540 °)
The sum of all interior angles of a pentagon is (360° /540°)
(iv) TR It & fadof T SR BT i FRA ¢ | GEECVASKIFRINE))
The diagonals of a parallelogram each other. (perpendicular / Disect )
U 15 WIS & @re T He difsre— 4x1 =4
Match Column.‘A’ to Column ‘B’
Yus ‘I’ us q
Column ‘A’ Column ‘B’
(a) (-4p) x (7r) (1) 12p - 24pq
(b)-(2p) (84) (2) (4p) (5p)
(c) 3p(4-80q) (3) -28 pr
(d) 20p? (4) 16pq
¥ 16 3! YBR A Wl g 52 Tl (ARN) &I U TSl § W U@ U<l (A1) Igieed wu
r@Tar SIar © a1 S dRi— 4x1 =4

One card is probability taken out from a well shuffled deck of 52 cards, then find -



(i) U BTl IIGRIME UTK BT Bl UTiehar
Probability of getting one black king
3R / Ans

(i) Tl T BT OAT YT DR BT GTiehdr

Probability of getting a card of red colour.
3N / Ans

(iii) STHT YT HIA DI Uil
Probability of getting an ace.
3N / Ans

(iv) ST 7 BT ITH U B DI UTfhar

Probability of getting red coloured queen.

3R / Ans
RIS U @Y § (17-22)
Short Answertype Questions
PART-B (17-22)
T 17 I s I & 9604 T T e w0 S — 4

Find the square root of a number 9604 by prime factorization method
3R / Ans

T 18 [l iR AT & QU I DIV BT SUNT 32 B | HIOR A Al Hion
B HIY T DI | 4
If the two adjacent angles of a parallelogram are in the ratio 3:2. Find the measures
of all the angles of the parallelogram.
3R/ Ans




T 19 12,000 . P 2 T4 & Y 10% T R | AR <9 T Thgle a6l o A=
ST PIRMT TP =1 a1 FAfra aar 2 | 4
Find the difference between simple interest and compound interest on Rs. 12,000 for
2 years at the rate of 10% yearly, when the interest is compounded yearly.

33X/ Ans

TE: 20 TS & &) agemen # 20 9yl @ fog 6 & &1 wafar Wre 21 afx 59 aggemen
# 10 9y &R 3N WY, A I8 Ao o o 9@ g wm? 4
In a farmer’s cattle shed, for 20 animals food. is sufficient for 6 days. If 10 more
animals come to this cattle shed, thenfor how many days will this food be sufficient ?

3R / Ans

TR 21 TR 3(t-3) =5(2t+1) BT T BN AR JU IR &) A PO | 2+2=4

Solve the equation 3(t-3) = 5(2t+1) and also check the answer.
3R / Ans




ge: 22 TN wisR # =1 aut # gdemi § arael 3 e A" @ € © | 39 JAidbs! 3
TS 0% A1 R HeRia S | 4
In any city, number of injuried in accedents in different years is shown in the table
below. Represent these datas on a pie- chart.

Ty AT
2018 2019 2020 2021
Year Total
R $I A
- 20 12 18 22 72
No. of Injuried
3N / Ans
e=ree g% (23—25)
Easy type Questions (23-25)
we: 23 fr=fole sivial & oRdEe BT | 2424242 =8
Factorize the following expressions-
(i) P2+ 6P +8

(ii) 49x%.—36
(iii) am? 4+ bm?#4 bn? + an?
(iv) 15xy - 6x +5y —2
ST
OR
ffoiaa @vial & orEs BT ik fdengar arT Ao | 2+2+2+2=8

Factorize the following expressions and divide them as directed-
O  (y*+7y+10) +(y+5)
(i) 5pq (P> —q*)+2p (P +q)
(iii) x(x+D(x+2)(x+3) +x(x+1)
(iv) (5P?=25P +20) +(P-1)




3R / Ans(i)

(iii)

(iv)

Ue: 24 (i) TP TATIHR S BT Mga 1800 B I & I s WS &R e HHM:

40 ¥, 30 T Tl R F8 SAE T P | 4+4 =8
The volume of‘a cuboidal box is 1800 cm. If its length and width is 40 cm and 30 cm
respectively, then find the height of the box.

(i) 14 N BANSE Tl TF IMABR DTS DT ASE D AFQW AGHY 20 T,
31541 9Tl U@ 9 SR 1T B | S99 BT e | difor |

A'rectangular paper of width 14 cm. is rolled along its width and a cylinder of radius 20
cm is made. Find the volume of the cylinder.

&L

OR
(i) T@ TgdemaR T $T SFA%d 54 TR §| T GR[E Nt | g9 {0t w
@Y 7Y o+ 8 #L a4 W, & O @t 9 g s SR 4+4=8

If the area of a quadrilateral shaped garden is 54 m? . If the length of perpendiculars
drawn on its diagonal from its opposite vertices are 8m and 4m, then find the length
of the diagonal.



(i) T& TFHR TR B I 64 O HeX § O 6 TR & G0 TS &hd

S BT |

If the volume of cubic room is 64 m3, then find the Total Surface area of the room.
I<IX / Ans(i)

Ans(ii)

U 25 SUGT JAM BT TANT SR §E I BT Yol 3R &F%d B frfaRad sifes @ 7
TP 3T FI50— 4+42+2=8
Using suitable scales on the axes, draw a graph between side of a square and its area
from the following table.

T B ST (cm )

Side of Square (in cm) 2 3 4 > 6
gl (cm? #)

Area(in cm?) 4 9 16 25 36




() ¥ a8 WRawp s 87

Is this a linear graph?

(i) afE ==t 3 o 7 0. B A T BT AABA BIN?

If the side of a square is 7 cm, then find its area.

AT

OR
SUgT M BT TR A GY 9 B gon 3R uRam & fEfaRad sifeel & W
TFH Mg TIEY— 442+2=8

Using suitable scales on the axes, draw a graph between side of a square and its
perimeter from the following table.

T B ST (em H )
Side of Square (in cm) 2 3 35 > 6
e (em %) 8 12 14 20 24
Perimeter (in cm)

() 71 98 e g *?

Is this a linear graph?

(i) afs &=t Do 4 0. 8 O T BT gRATT BII?

If the side of.a square is 4 cm, then find its perimeter

10
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3R / Ans
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